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30 3| 1| AEEHETRGE DR JREEARIT— T H3-1 BREARNTL T H1580-3| 25 4 490 30. 6. 17 25, 12. 20
3| 3| 2 | mA@mYM Wl — T H WEFIRT— T H 25 4 390 30. 6. 17 25. 12. 20
30 4| 3 | FHEEHS KR P EET— T H P EET— T H 16 2 680 30. 6. 17 3. 8 31
3| 3 | 4| bR FAIT— T H 464-2 HHT =T H1009-2 22 1, 560 30. 6. 17 55. 11. 18
30 3| 5 | HrHESGEY R KREFHEFHBEE1047-1 | KRFEIEFHREM1046-1 | 25 40 47. 9. 26 55. 11. 18
3| 4 | 6 | MEFUHTAT AR WEFIET =T H 100-61 SERTPU T H 100-1 18 2 900 30. 6. 17 2. 12. 8
3| 4| 7| HEEHEE AR JREATHT— T H PR ET R 18 4 ¥ 4,360 30. 6. 17 5 9. 22
3| 4| 8 | BEFIMTREEAAR BEFIRT =T H FEAERT—T H 18 2 | 7,610 30. 6. 17 4. 3. 18
30 4| 12| MHERK P EET Y T H P EET Y T H 16 2 % 880 39. 7. 31 3. 8 31
3| 4 | 13| PEEEEGEY R RATH FRATH 16 2 230 30. 6. 17 2. 12. 8
3| 4 | 14| Sk LT T H T T H 16 2 1,490 30. 6. 17 2. 12. 8
31 3| 15| BoAR EOART=TH EOARTLTH 22.5 4 1,020 2. 9. 1 2. 9. 1
30 4| 16| MATHR MR —T A FIRTET =T H 19 2 950 30. 6. 17 2. 12. 8
30 4 | 17 | AEERRATHR EZEEIN HE—TH 16 2 % 1,620 47. 9. 26 3. 2. 15
3| 4 | 18| EoOKRHM EOARI ZTH FRHIT—TH 16 2 3,630 30. 6. 17 2. 12. 8
3| 5 | 19 | JRELAT TR JREARHT— T H14-6 JEE T H960-2 12 2 5, 820 30. 6. 17 2. 9. 1
31 6 | 20| JIPEFEmAR JIEZ=TH EHETH 11 1, 750 10. 2. 6 0. 2. 6
30 5 | 21 | mREATh kg [LFET—T H1614-1 [LFET—T H 1428-2 15 490 30. 6. 17 55.  12. 1
3| 5 | 22| WRFNETIIOHR WEFIET =T | JIART=TH 15 1,030 30. 6. 17 4. 3. 18
30 3| 23| JCHTHHM JCHTPUT H WA=TH 25 4 3, 890 30. 6. 17 2. 9. 1
31 5 | 24 | FEHAIIER 4B RHT— T H KREFFFLEY ZZ 15.5 3,190 35. 8 20 0. 12. 15
3] 5 | 25| EAEG®Y K HE-TH JImE—TH 12 2 ¥ 680 30. 6. 17 2. 12. 15
3 5 | 26 | AR JIAHET =T H W=FRT YT B 12 2 | 2,370 30. 6. 17 4. 3 18
3| 5| 27| MELRREAERR g T¥KET— T H A TR i 14 2 |% 5,430 4. 7. 31 3. 2. 15
3| 5 | 28| e AT =TH AT =TH 15 2 450 30. 6. 17 3. 2. 19
3| 5 | 30 | KHBTETH #AATH HE=TH 12 2 % 1,360 30. 6. 17 2. 12. 15
30 5 | 31| HEERTH MY — T H 566-4 JEBT— T H504-2 12 1, 580 39. 7. 31 55.  12. 1
31 5 | 32| kG HEHRTH BIL—=TH 12 2 % 200 34, 12. 5 2. 12. 15
3 5 | 33 | JIvE#R Jig—T1H Jig—T1H 12 2 K 450 30. 6. 17 2 12. 15
3| 4| 34| 4B KHbER TH—TH P EET =T H 18 2 % 2,470 39. 7. 31 3. 8 31
3| 4 | 35 | [AbFERRAR HiH—TH FEAIT— T H 16 1,530 30. 6. 17 0. 2. 6
3| 4| 36| 4EAK BRI —TH TR =TH 22.5 1,510 0. 2. 6 0. 2. 6
30 5 | 37 | AEEER KREHETL659-1 | REHEET T 2 1347 12 140 47. 8. 23 55.  12. 1
3| 5 | 38| MHESFAM RFEET LAME69-2 | RFSFHTFH ., AR67T-1| 12 1,570 47. 8. 23 55.  12. 1
30 5| 39| BEK HEFRTH (RS SN 12 2 % 1,050 47. 8. 23 3. 2. 15
3] 6 | 41 | BIFTILHEEMR MRINTH #HANTH 9 2 % 840 30. 6. 17 2. 12. 15
3] 2| 42| AEMEEK FRAEHT =T H IR =T H 30 4 4, 890 o L 17 3. 2. 19
3| 4 | 43| BFZmEMK RFBFFEHA K7L HFHREEK 16 2,090 62. 9. 1 62 9. 1
3] 5 | 44| R K2 MFhHE K7L HFH A 12 960 62. 8. 12 62 8. 12
3| 5| 45| ZHJIMR KFZ HFHPF KRFEEZHTZF L 12 260 62. 8 12 62 8. 12
3| 6 | 46 | RAERIFH FEAERT =T H REFBH 8 11.5 2 7,600 3. 2. 19 3. 2. 19
1| 4 |201| SEKRIER FIARETRE 7 i —TH IWFET=TH 17 4 5, 100 2. 9. 1 2. 9. 1
8 | 7| 1| AEBUKEMR JRELATHT — T H JiREAHT—T H 6 — 110 25. 12. 20 25. 12. 20
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